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f'(z) -1 0 |+
f(z) NN
ZZT
f %):%—log2=%loge?’—log2:%(loge3—10g24)

372, 63> 2.73 = 19,683 > 16 = 2* 2D T loged > log 24 AN 5, f (%) >0
MWD, £oT
1 3\ . 1
> = . 2 < =
f(x):f(2)>0 ..1og(9c+2):2(x+1)
A RASN (GE#%)

=11l
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(4] (1) f(z)=vVx—logz (z >0) £B< &

fllay = Y22
THBND
z 0 4
f'(@) 10+
f(z) Y /

LoT, z>00L &
flx) =2 f(4) =2(1 —log2) >0
logz < v/x
IR 5.

(2) x>00&Elogr <o &0, T KEV2IZH LT

0<

<—

log x 1
x N

DHDTH, lim—— =0 ThHohb, E3H) LOEMELY

wﬁwﬁ
=0 - (%)

Jim 1087
r—oo I

(RE#)

u

DY LD FTz, (%) c:iow\ft:% EBLE, x5 00DEE, t—+0THY,

lim log z
r—oo I

=0

= lim tlog+ =0
t—-+0 t

<= lim —tlogt=0
t——+0

<= lim tlogt =0
t—+40

Lo, lim xlogr =0 T DY 72D,
r——+0
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